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QUESTION 1

You are provisioning Layer 2 circuits between sites CE1, CE2, and CE3. 

Referring to the exhibit, which statement is true? 

A. A point-to-multipoint LSP must be created between sites. 

B. Each site must have only one VLAN configured to the PE. 

C. Site PE1 must have a point-to-multipoint link configured towards the core. 

D. Two VLANs must be configured from PE 1 to CE 1. 

Correct Answer: D 

 

QUESTION 2
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Referring to the exhibit, which two statements are correct for a route advertised by R1 towards R4? (Choose two.) 

A. The BGP next hop is set to 14.1.1.1 by R2. 

B. The AS path is set to 150 by R2. 

C. The BGP next hop is set to 192.168.2.2 by R2. 

D. The AS path is set to null by R2. 

Correct Answer: AD 
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A network administrator is investigating why traffic from R2 is not being forwarded to R1. 

Referring to the show isis database command output shown in the exhibit, what is causing this problem on the
network? 

A. R1 and R2 are in different IS-IS areas. 

B. The preferred interface between R1 and R2 is experiencing errors. 

C. R1 is configured to drop all incoming traffic. 

D. R2 is ignoring specific LSPs from R1 in its SPF calculations. 

Correct Answer: D 
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QUESTION 4

What occurs when a router running IS-IS receives an LSP with the overload bit set? 

A. The LSP is ignored during SPF calculation. 

B. The LSP is not added to the link-state database. 

C. The LSP\\'s metric will be set to 65535. 

D. The LSP\\'s metric will be set to 16777215. 

Correct Answer: D 

 

QUESTION 5

Referring to the exhibit, which two statements are true? (Choose two.) 

A. This router is an ASBR. 

B. There are two interfaces marked as passive. 

C. There is one interface marked as passive. 

D. This router is an ABR. 

Correct Answer: AC 
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